- % = %
> rf’b,ﬁ

Al+SDGs=C2.

ESG+AI=00
it 3

,-r;,’zg#«lg; > B ZRHEER

éﬁﬁ( TAERG ER S FEY SREER - BRY S )

(—Xﬁﬁ*ﬁﬁmékﬂlﬂmﬁhN’*irﬁ% FIG ko
(CH(RETAERER) TR -FTR P> ~Fe ~FE<3 %o
(EX%ﬁwnuﬁmﬁv) ‘%ﬁh‘k?'wn?~9?‘ TR ER koo

CDICE A
EDICE
() (F# ¢
(= )(Fd e
(M) (Fd e
(4 )(Fd
(L)(Fd e

SRR SEEE) ROV BB R Rk e

) L F R R A Tk

) RTR S T s ELE R CEA K o

<) AL QI F R s A 1 FEF &

) HEEREF R

) FEFREFCRECMES B~ AR
) FECEFE SR FEEF M R

(- )GE ) BB A P
S NARBRAESBER 2 NP

ﬁti
v

T ir?'%r‘r'
(-OR%RE

DB LS T A R L
FO NV EE ST RS TL R

D AT AR e
DR AT AT R

e s
R
R AT G R LA

EER (L4 6) A2 REEREMT LR EFE o B BE8
W Ld s 154 Wﬁ@ﬁw'\}ﬁ%ﬁfi’.°

e (R+6) st vk ek (L4 6)

()8R (Fz2)~FR - ?2> FL 7T -+8 (5z22)

(2)4#%%

e (X+5)° zé‘é"fiﬁw%‘(i‘éﬁ)ﬁ‘%% B (A4 5) #2 &

(2)R7E®R (8 21) ~ (F22) £F ~KE &
(I)r1 8 (A+4) ~PBE~F A~ 5 (L+4)

(=) (@

23)kBAFL k(T L2 WAL

(CH)raFEFL (1)
(COREEEER (F21)
(MDFEFER (K+5) 3 Fe~ (AL ME-F R8N

(1) (@

2D FE EHXFRFFF M (522
(M)RFR (F28) ~ AR F EFFEY (523




